1. Read and choose the best answer.

1) On Saturday, at half past three in the afternoon., Tina might

a) read something b) write to her best friend c) see a film

2) On one weekend, Tina cannot

a) go for a walk
b) go to a restaurant and see a film

c) meet her friends and talk to them

3) Today is Saturday, Tina is reading a newspaper. What can she do the next morning?
a) go for a walk b) read the newspaper again c) see a film

2. Read again and match the two parts.

a) Tina has - goes to a restaurant.
b) Tina likes - two free days.

c) Some nights, Tina - chatting with her friends.




